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Section A:

Reading Comprehension
In this section, there are three passages, each with 5 questions. Read each passage carefully. Then choose

the best option (a, b, c, or d) to answer the questions under the passage. Choose your answer only based
on the information in the passage.

Passage 1

Autism is a brain development disorder that impairs social interaction and communication and causes
restricted and repetitive behavior, all starting before a child is three years old. The genetics of autism are
complex and it is generally unclear which genes are responsible for it. Autism affects many parts of the
brain, but how this occurs is also poorly understood. Autism is strongly associated with agents that cause
birth defects. Other proposed causes, such as childhood vaccines, are controversial and the vaccine
hypotheses lack convincing scientific evidence. The number of people known to have autism has
increased dramatically since the 1980s. Parents usually notice signs in the first two years of their child's
life. Early behavioral cognitive intervention can help children gain self-care, social and communication
skills, but there is no cure for it. Few children with autism live independently after reaching adulthood,
but some become successful as an autistic culture has developed, with some seeking a cure and others
believing that autism is a condition rather than a disorder.

131 - According to the passage, autism is a developmental disorder of the human brain .......... -
a. related to limited social behavior initiated in the early childhood
b. which cannot be recognized before the child is three years old
c. for which there used to be encouraging success in treatment plans
d. the causes of which are understood and efficiently treated recently

132 - It can be understood from the passage that autism .......... ;
a. is caused by a vaccination delivered improperly at childhood
b. accounts for factors inhibiting birth defects
c. is proved to be a condition not a disorder
d. affects the brain with mechanisms not well understood yet

133 - One debatable cause of autism is said to be .......... , which is yet to be substantiated.
a. complex genetic patterns
b. impaired communication
c. childhood vaccines
d. social problems

134 - It is understood from the passage that .......... .
a. the world has witnessed a reduction in the number of people known to have autism
b. even with early treatment, the autistic child has no chance to recover completely
c. scientists know which genes are responsible for the development of autism
d. parents tend to neglect the autism signs of their children in the early childhood

135 - According to the passage, which of the following statements is true about autistic children?
a. Genetic interventions can improve their social and cognitive behaviors.
b. An improvement in their communication skills was observed in the 1980s.
c¢. Early interventions may help them develop some social behavioral skills.
d. Autistic children can live independently when reaching adulthood.
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Passage 2

Expanding population has put people in environments that were sparsely populated in the past. Also
changes in technology have altered the landscape. These changes are usually undertaken for someone's
immediate economic gain, but they can carry with them unanticipated consequences for health as the
ecology of pathogens or their vectors are altered in unexpected ways. Dengue fever, which is caused by a
mosquito-borne RNA virus and results in fever, rash, and muscle pain, has been recognized in human
populations in Asia and the Americas for some two hundred years. It has increased in incidence and in
geographic range over the last twenty years, largely because human populations and the pathogen's
vector, i.e. mosquitoes, have increased in numbers in close proximity to each other. Human populations
have both increased and occupied new areas. Mosquito populations have also changed. In some places,
they have been controlled, but elsewhere increases are traceable to new breeding sites provided by poor
urban sanitary conditions, to relaxation of mosquito control programs, and to increase in the resistance of
mosquitoes to insecticides.

136 - According to the passage, changes in technology and landscape have .......... human beings.
a. proved to be exclusively beneficial to
b. brought about both benefits and harms to
c. been exceptionally detrimental to
d. been foreseen from the ancient times by

137 - Dengue fever, which is transmitted to humans by a mosquito, .......... :
a. has spread due to effective sanitary conditions
b. is the result of efficient mosquito control programs
c. has entirely come under control by human beings
d. has increased partly due to inadequate measures

138 - The high incidence of Dengue fever is partly due to the .......... ’
intensification of mosquito control programs

b. resistance of mosquitoes to chemical agents

c. provision of public health facilities

d. destruction of new breeding sites

£

139 - Dengue fever has been detected in populations .......... :
a. of Asia and the Americas since the dawn of history
b. all over the world in recent periods of time
c. ina wide geographical region solely in the Americas
d. in specific geographical regions for about two centuries

140 - Changes in the environment can .......... the human’s exposure to pathogens.
a. either increase or decrease
b. both neutralize and diminish
c. have alegedly little impact on
d. hardly maximize the rate of
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Passage 3 A

The atmosphere is an ocean of air and a precious natural resource for sustaining life on the Earth.
Unfortunately, human activities based on national or personal interests are causing harm to this common
resource, notably by depleting the fragile ozone layer, which acts as a protective shield for life on the
Earth. Ozone molecules are exceedingly rare: fewer than ten in every million molecules of air. However,
for nearly a billion years, their presence in the atmosphere has played a vital role in safeguarding life on
the Earth. Depending on where it is located, ozone can either protect or harm life on the Earth. The ozone
in the troposphere is “bad” ozone which can damage lung tissues and plants. But about 90 percent of
ozone found in the stratosphere is “good” ozone which plays a beneficial role by absorbing dangerous
ultraviolet (UV-B) radiation from the Sun. Without this beneficial ozone layer, humans would be more
susceptible to certain diseases due to the increased incidence of ultra-violet rays from the Sun. In the last
decades, the amount of ozone has decreased. Back in 1974, it was hypothesized that chlorofluorocarbons
(CFCs) could be a cause for this. Until 1987, scientific assessment of the cause-effect relationship was not
convincing enough to implicate the CFCs.

141 - The passage mainly discusses .......... :
a. the harms that ozone layer may cause
b. different types of ozone existing in the air
¢. the structure and function of ozone in the air
d. the beneficial role of ozone in protecting life

142 - According to the passage, ozone .......... A
a. cannot be easily destroyed by human activities
b. has caused depletion of the chlorofluorocarbons
c. may be damaging depending on its location
d. has intensified ultra-violet rays from the Sun

143 - The underlying phrase “this common resource” refers to .......... ’
a. atmosphere
b. ozone layer
c. the Earth
d. life

144 - Ozone found in the stratosphere .......... :
a. absorbs harmful UV-B
b. can damage the lungs
c. increases disease susceptibility
d. strengthens ultra-violet rays

145 - According to the passage, .......... .

before 1974, there was a consensus that CFCs would cause destruction of ozone layer
in the late 1980s, scientists agreed that CFCs could play a role in ozone depletion
ozone layer has made human more susceptible to certain diseases

most of the ozone existing in the atmosphere is dangerous for human health

o op

Section B:

Vocabulary Items
Read sentences 146 to 160 carefully. Then choose the best option (a, b, ¢, or d) to complete the blank
space in each question.

146 - A total of 30 participants were .......... for close examination to perform the tasks assigned to
them by the University Child Study Center.
a. denounced
b. excluded
¢. recruited
d. disjointed
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147 - The researcher's claims will be regarded .......... unless he provides more tangible evidence. w
a. with optimism
b. with skepticism
c. as immaculate
d. as impeccable

148 - With his huge unrivalled achievements, he has proved to be a/an .......... of a dedicated
successful scientist one could ever imagine.
a. embodiment
b. accomplice
c. disgrace
d. humiliation

149 - Soon after the instructor's hasty comments, the participants asked her for further .......... "
a. emancipation
b. equilibrium
c. detachment
d. elaboration

150 - The drug produced .......... pain relief; that is why the patient was in agony again few minutes
after he took it.
a. transparent
b. transverse
c. transient
d. translucent

151 - The countries which legalized the physician-assisted death are expected to be
INOTC cossessssn toward abortion as well.
a. lenient
b. resistant
c. skeptical
d. stubborn

152 - Initially, it was .......... that the Covid-19 pandemic will be controlled in a year but the
prediction was not correct.
a. proceeded
b. antedated
c. preceded
d. anticipated

153 - All the medical records of a patient are categorized and kept for further .......... by the
medical staff.
a. articulation
b. anticipation
¢. inspection
d. inspiration

154 - A nurse should be well familiar with drug .......... routes in order to select the most
convenient one for the patient’s condition.
a. transition
b. administration
c. transformation
d. formulation
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155 - Children should be treated with special attention and care as they are highly resistant
and cioserens medical interventions.
a. reluctant towards
b. enthusiastic for
c. relieved by
d. cynical about

156 - The staff were resented because what they had done for the improvement of the
organizational goals appeared .......... for the head of the department.
a. invaluable
b. valueless
c. priceless
d. worthwhile

157 - Pain which protects the body from danger and harm is an essential part of our .......... , which
has gradually developed over a long period of time.
a. revolution
b. evolution
c. resolution
d. devolution

158 - The old man was not .......... to be hospitalized and preferred to receive treatment at home.
a. inclined
b. deviated

¢. discriminated
d. demotivated

159 - The client suffering from a severe mental illness was referred to a psychologist for .......... and
advice on his treatment.
a. consultation
b. consolidation
C. consensus
d. conscription

160 - The police have expressed .......... concerns about the missing child's safety.
a. gracious
b. grave
c. fallible
d. fallacious

Section C:

Grammar Questions
Read questions 161 to 170 carefully. Then choose the best choice (a, b, ¢, or d) to complete the blank
space in each question.

161 - Health professionals and immunologists have seriously demanded that people of all
BPES covesssess against the Covid-19 disease.
a. vaccination
b. be vaccinated
c. are vaccinated
d. to be vaccinated
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162 - If the startup event .......... , I would probably go and see it.
a. should be taken place
b. were to take place
c. was taken place
d. would take place

163 - Itis proved that wearing a mask is a good way to avoid the Covid-19; .......... , many people go
to crowded places without a mask.
a. yet
b. because
c. furthermore
d. consequently

164 - If a patient .......... the choice of taking either an injection or an oral medicine, s/he would
most probably select the latter.
a. would have given
b. is being given
c. was given
d. has given

165 - The surgeon .......... the tumor as soon as possible.
a. considered removing
b. considering to remove
c. considers by removing
d. had considered remove

166 - Physical distancing has been in practice since the Covid-19 outbreak .......... different parts of the world.
a. would have affected
b. has been affected
¢. affect
d. affected

167 - Working long hours in the hospital, .......... -
a. the nurse’s head began to feel heavy
b. the nurse felt heavy in the head
c. the nurse’s head was heavy
d. felt heavy the nurse’s head

168 - The mountain peak was .......... the sea level; when we finally reached there, we felt that it
was difficult to breathe.
a. such higher than
b. so higher that
c. such a height
d. so far above

169 - Yesterday, .......... well, Mr. Jefferson decided to make an appointment with his family doctor.
a. no feeling
b. not feeling
c. did not feel
d. having no feeling

170 - It’s weird that he is not talking any more about his plans to emigrate. He .......... his
mind about it.

is being changed

will have changed

ought to have changed

might have changed
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